o
N
X
=
o
&
(=
N
X
=
o
&

T YoF : A F ]
8 - : &) - !
011 SRR IS TRR RER  BO S ¥ [ELAUTPRPRR T (01| SERRRRERRE § AR RERES < ERPPRE SON SO | RN
S o : o o
e} Y AR PN . RS RN R R R R R O (O Y A |
° 0.1 : v 0.1p ]
O e S Rl i R B IRESIIER R O R A0 N SRRCERE: RUN ER | EERRES
OF---f- i fee . ------------- o] SEPUPUUR SN PP WU ) DUUDUN, N DO |
~0.05f -+ -f oo gt 28 39 BRSNS B ~0.05f -+t - e e
R R R S L R S R0 SIS  EA R O |
—0.15F -} i e i e B EREARRRLEECEEE —0.A5f b i g
9_02:||||| 9_02:| 0 PP AP O |
5 b R R e et M T e | et 8 R 1| 1 ¥ L Rl
© ot 1 B R I I E .
o it A [ EATR e
0: ; : : [ ] 0: i _ i | i
-2 -1 0 1 2 3 23 2 -1 0 1 2 3

|
w

TP n (PCA to beamline) TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitOLD-checkDet_ RECO
= 100, " " " " " — 100, " "
S E : : : : : 1S E : :
= 80F -FHA 44 |- --- = 80 CH- - 11 4
AR e AR I
& 60F -ttt 3" 60F- Rl
o r ! e r ! !
U 40F T R R
20F- it it 20F et L T
I || [# I 1 1 i I
oF - oF TR
o ¥ o 4 N N N
o b o : s s
-20F it R —20E [l :
- M - a £ a

=401 - FREH- - B - B - - —A0H] -l . f ..

=60F {11tHA-HIEH-A- THETHR- B+ -60F 11 HE -

-80F -80F :
-g_lOG;|||||||||!|| I...I....!.... o—lOQ;""I""""'!""I""I""
T 15F- -fH- Ro0cs0s b KR SV SUEUURRN 5. 3 I N
@ E i b 14 E :

1 B o 1 o e 1 ] SEEN] EEVEREREEE! £F 0¥ BN EREEREE (51 5 0 £ B | R SRR
E X E
0.5g g -FH R R | - EEFEEEES BN A B BV & J -----------------
0: 9 i 4 0: l 2
=3

=3 -2 -1 0 1 2 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

<0 / > (Y
PP, > (70)
O = N W N O

TT IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
—
S

Ratio

NN | DR Y |
-3 -2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


